(38~ BLEREB)
FAFEE - LI FHYH
1w§ﬁ§ﬁ§ﬁﬁ§»§

SRE N 4 e GREA

T’F?é ARER

AR

FRAT AP RAERL g 7 A BT E |
ng_iﬁg&f:? ':’5”@ -’7%‘ = g«Ll‘E \:.E.%';u—n )j-. l:‘%’iﬁ% 7\"\@ - X -,1,5-' Eﬁ‘ °
TR 804 48

W LT RS T R

PSP
SR B LR G4 W GRAT A 0 RIS P I /403:30 5] 14:50 0 £ 804 4o (T B 4ng
RRE L | g T o

AR EE
1337 %3 B> - TR 2T EA ] o
2FEMAITRY BAE o HAMELBA N L ERIL > R AKE D
B oo

BEBHRMAL FHRE I EFRL LAY S 3 W E R o w R
FECHEHBFEAS N EFRL TP ﬁ*%’éﬁﬁﬁﬁﬁzg?¢°
45 SEUERM FE A R PRALE R S A GE o S E GRS D
A A o
5.5 §IGEE B4 iS 160 484 » BRI H 2 @ 2 Hre F 5 70 H 0 ZEIGEF D 7
S
6.5 FEUHL X H4e304 48R 0 7 WHRSAS - T FHS - PRI DK B EP
FEGEAL R A S A o
f"E"‘é";v;VZ
1407 ¢ F2 8 AL - A AL 3
2IFFHEARPF > G P A2
[l N
31?5 PEEP R 3 A o R AL EARE RSk 0 H I AR
FokndFRREF B é%’Fw@ﬁﬁww’#»?uﬁcﬁ-%ﬁﬁi%’
?ﬁ' Fi"ig 3";‘-’/);
4.9 & prifit TAHACGRB It £ATE BIRE B -

N

¥ W%\
¢ Eokend > RAERIEEB AT EE VRO

=

FEEI4 (8) Pdo 0 E AL b A
RPEBIERYSE L] IFE




)
A}

2

3

/:

f}; /47\

8

&

s
’g:\‘

lf\./

A

(

7§\\

E

fjv\ .

¥

A

B,
v=
5]

n;i?

Y i '(E
7:§

o

g

) fo)6

A 6

E 1

‘J 5 7222

3?39(2 5 ///////

ql &

3

1) A
: %B

nn

Zfi

1 :

b
#x F
i
e
&
P
=S
34
f
A
F
e
e
2
' %
B
-t
1
3
¥
=
7
Sy
3
‘ id
tﬁ”
|l -
.%E?FE
ﬁi:%
) :ig
i’E";;
; 3
: )
ﬂ—\_
i e
™
7
s
12
2.

-
_|G7
T

>

_|

8
)
(E
)7

(D

)
M ES
| ©)

+

; ?

T=

%

o

2

E =

%

, &3

%)

(A

H
35
H

1

-



rwiﬁﬁﬁﬁf LR RHHERERCE (TE R
*W%—%’E%i?%ﬁf’“

3. % A4,B,C,D,E,F =
FE'%;%D%FF'%m%

&—"’K:L’;ZE,&"F! 1&:3{—5-;‘ LL%-—-&}-)’ 5

P
Ltgej%obfra,—%B*’q”D' 2 C¥
B¥*t CopK D A2 D*ﬁ* Cighd Frvt ol g B 2% B
Bi7?

A = ~m B) I~z (O) B D) 7 ~= (E) = ~ 1

A 2w o 2 ¥ 0 1 2 k
H ’J“/{g_c-lzizz =S 2 12 12 l”'52 't ?

4. % - EFl~ fx it R C,CLC,,--,Cp,--- H
BB0> 2 CEC Pt it chzshB CEC, P73

%Coﬁﬂ}ﬂ'“ RS -
e C,ECp 73 H xgh b chz ek R E (T BhiRS

Hoxght et
B iyEh s LxREk s Zhek s LaEh s ) BIFIC, ehfl x KRG R 7
(A) 341 (B)-512 (C)512 (D) 683 (E)924

SRRy I E LR (B 1~348 FEE 104 0 £ 30 4 )
— BBl

*}

A2 2020 £ 5 - B fgFEmE > F] L #2020 7 Ve

FrAor e BRE AT EAT S foo 1
(1) & #2020=a*+b*+c*+d* > & 7 q, b, e,d 3w BT i

= (5%)

1.

Fa+b+c+d=
(2) T-ZgFINEF ERAFHMET T A E BRI GESEZ (T
(54)

F2H H5H



L #5) Pls Ry

4 .
Lix 2

2
r‘ﬁn.t’ﬁ

B3H

$5

N

H



N
~

fur

\4

(R I~3A0 B TAL 144 0 H2A 144 0 B304 0 £ 38 4)
AR AN H BN R P EEER FRER AT A o

-~

Lo ‘T‘"*%%ABCD % X_AB=25+ BC=14 > CD=24 > ~C=90°% AD//BC -

= L
F ¥
(1) %4 - &4~ ABCD p #3. 22 AB ~ BC ~ CDo4p + Al /2 5 o 2

A D

%

(2) % - F C1 &$-35 ABCD P 372 2 AB ~ BC ~ CD#a4p*7 ; ¥ 4 - 1 C»
4 425 ABCD 3% F 22 AB ~ AD ~ CD294p*7 o £ - RE PQ % X 8. P
GAELAB b B QO BAECD Y ’féslﬂﬁzP_cgle?al'fs]cl~c2;rs;fgk7 o
PIREPQeE B 5P ?




2. (1) % n 5 Ko E 142+, +n 82020 chiz > Bl n chdo | & 5 G0 2

(2 K mn¥=i L EEK? m<n- F mH(mtl)t..+n £2020 5 %k

3. 4cB®ArT 0 2P i AABC p 3R g »
+% : (1) AB+AC>PB+PC

(2) P g.3| AABC = 7 gherpedfe-] 3 AABC (% &




